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Neglecting the muon mass:
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FIG. I. Predicted two-photon cross sections for pion pairs
and lepton pairs. The predictions for leplon pairs are from a
Monte Carlo calculation, The prediction for pion pairs is that
of Morgan and Pennington [Ref. 15}, where the pion-pair cross
section consists of & nonresomant continuum and the large
5012700 resonance. The ohserved peak of the 0 12707 15 shift-
ed due to interference with the continuam.
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pion suppression factor
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summary: spectral integrals

e/m separation lookup* trigger efficiency lookup*

: : 1=
~._e+e- rejection based on FCAL § Would need to set FCAL
- i trigger at 50 MeV or lower.
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* These results were derived from the unbiased spectra, level 1 trigger only.



-~ CALORIMETER
Lz~ MWPC

f _ _ Silica aerogel cherenkov, n=1.03
1 Muon signal = single track

Pion threshold 0.58 GeV

¢~ within ~ 3 cm of projection
/ Eff ~98% (x,u,v chambers at Illl/|u0_nihreshold 0.44 GeV
pe ~

NN N / Eff= 98%

Muon signal = (good track in MWPC) OR
(aerogel hit)
Eff =1-(02)2=99.96%

X
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5 GeV muon
or pion

r
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Lead:

\ * Need energy confinement > (5-.58)/5 = 90%
* 90% energy confinement for 5 GeV pion ~ 25 cm Pb
* AE =0.75 GeV

{“‘I =4 * AO =51 mrad for 2.5 GeV incident muon
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